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oM " QUARTERLY T EXAMINATION 2024
Time : 3.00 Hrs ; Marks : 100
PART - A | BRI
I - Choose the correct answer :- ' 14X1=14
. A={ab,c},B={23},C= {p,q, T, s} then n[(Au C)XC] is v :
' a) § : b) 20 ; 2t 6) 12 - d)16
2. Ifthe ordered pairs (a + 2, 4) and (5, 2a +b) are equal than (a, b)is
D2-2 . b TP IE ERR T )
3. fix)=(x+ 1)’ — (x— 1)’ represents a function which is ' :
a) Linear b) Cubic ¢) Reciprocal - . d) Quadratlc :
4, If the HCF of 65 and 117 is expressible in the form of 65m - 117, then the value of m is -
a) 4 b)2 Joe)ld : d)3
5. If 6 times of 6th term of an A.P. is equal.to 7 times 7th term, then 13t term ofthe A P R
a)0 b) 6 : 1 6).7 - d) 13
6. IfA=2%and B =2%+2%+2%+ ... +2%which of the following is true? a) B is 2* more than A
b) Aand B are equal ©) B is larger than 1 by A d) A is larger than 1 by B
Z The solution of 2x—1)? = 9isequalto ay-1-. b)2 c)-1,2 d) None of these
256x%y"2" 16|x°z* 6l 16 - 16]x2”
8. The square root of - 25y 6‘}’?-’46 e). 3 2 b) 2 c) .5 | M. d). 5 y
3y-3 Ty-7 9 ’ 9y’ 21y —42y+21 1y =2y +1) o
9. Tz s a)—yb) c) a3 d) 2
y 3y 21y-21 3y _ y
10. Ifin A ABC, DE Il BC AB 3.6cm, AC =2.4cm and AD =2.1 cm then the length of AE i is
" a)ldcm : b)l.8em . ¢) 1.2 cm j d) 1.05cm
11.  The straight line given by the equation isx=111is - a)Parallel to X axis
b) Parallel to Y axis  ¢) Plassing through the origin ~ d) Passing through the point (0, 11)
12. Ifslope of the line PQ is _\/'5_ then the slope of perpendicular bisector of PQ is |
' : 1
a) \/i- b) 3 c)-é\/‘% d)0
13. (2, 1) is the point of intersection of two lines. ‘ A
a)x—-y—-3=0;3x-y-7=0 ‘ b)x+y=3;3x+y=7 S
¢)3x+y=3,x+y=7 ‘ ) x+3y-3=0;x-y-T= 0 o
: ' \ 7. 2 2 iy 2 2 2 3
by X ' go ) £
14. Ify—atangandy—absecgthena)zz— ?=1b) ?—%?—=1’e) _a'_2+§)7=1d)._2—%—0
' : PART - B '
I Answer any ten questions. Q.No. 28 is compulsory :- : ' ' 10X2=20

15, LetA={1,2,3} and B = {x/x is a prime number less than 10}. Find A X B and B X A.
16.  Givenf(x)=2x-x2,find (i) f(1) and (i) f(x+1). ‘
I7.  The function ‘t" which maps temperature in Célsius (C) into temperature in Fahrenheit (F) is deﬁned by
t(C) = F where I =§C+32. Find, (i)t(0) (i) t-10)
1'8.‘ Compute x, such that 10* = x (mod 19).
197 Find x, y and z given that the numbers x, 10,v,24,z are in A.P.
20.  Find the sum 3+1+%+...€5, o AR
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Answer any TEN questions. (Q.No. 42 is. compulsory)
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A+10 : /

Find the excluded values of the expression g By : : AN ! i

Dclcnmnc the nature of(hc roots ofqnadmtlc equation
002 b2 x2 - 24 abed x+ 1662 42 = 0.0 7 0,b # 0.
% V

.{. e

Simplify 7, XLy = v

AD is the bisector of z4 . 1f BD= 4cm, DC=3em e :

and AB = 6em find AC.
Show that the points P(=1.5, 3), Q(6, -2), R(-3, 4Y are collinear. g
Find the equation of a line whose intercepts on the x and y axes are 4 and ~6 respectively.

4cm D 3cm

cos g —SLC@—lﬂh@

14sin@ i | o f
Show that the straight lines X =2y +3=0and 6‘< + 3y +8=0are perpendwular ‘
PART ;C. = . ... ’

‘ ‘ 10 X 5=50
Let A= {}.E Wix<2},B= {xeN l<x <4},C={3,5}. Venfythat AX(BuC) (/IXB)U(AX%).-
2x+7 x<-2, i ‘

: . ) < A N 3o
If the function f: R —> R is defined by f(x) -2 2 = 3’ then find the value of
3x 2; x23. :

() f(4) (i) f(=2)" (iii) f(4) + 2f(1) (iv) 3 -

If f(x) = x — 4, g(x) =x3 h(x) = 3x =5 then prove that (fog)oh = fo(goh).
A mother divides Rs. 207 into three parts such that the amount are in A.P. and gives it to her three childfen.

_The product of the two least amounts that the children had Rs. 4623. Find the amount rcccwed by cach child

Find the G.P. in which the 2d term is J@ and 6t term is 9\/—
If 9x* + 12x>+ 28x% + ax + b is a perfect square find the value ofa and b
The roots of the equation 2x* - 7x +5 0are ,B :

. o
o and SB. With outsolving for the roots find —+—  (H)—=+—
a ,B a o

Solve the following system of linear equations in three variables 3x - 2y +z= 2 2x + 3y ~z=35,
x+ty+z=6..

State and prove Thales theorem.” ' . g
Find the area of the quadrilateral formed by the points (8, 6) (5, ll) (-5,12) and (—4 3). -5
Find the equation of the perpendicular bisector of the line joining the points A(—4,2) & B (6, -4). '

Two buildings of different height are located at opposite sides of each other. Ifa heavy rod is attached joining
the terrace of the buildings from (6, 10) to (14, 12), find the equation of the rod joining the buildings?

‘cosd 1 a ~1:" . !
— =— then prove that ———=sin0, , '
1+sinf a a +1 :
Rekha has 15 square colour papers of sizes 10cm, l1lcm, 120m ...... , 24 cm. How much area can.be
decorated with these colour papers? ‘ o
"PART - D | 6
Answer all the quesuons - ‘ ' - 2X8= 16

a) Construct a triangle similar to a given tnang,le pQR with its 51des equal to 4/5 of’ the corrcspondmg r sides of
the triangle POR (scale factor 4/5 < 1).(OR) '

| b) Construct a PQR which the base PQ = 4.5cm, /R =35° and the median RG from R to PQ is 6cm.

a) A bus is‘trav?ll.ing at a uniform speed of 50km/hr. Draw the distance - time graph and hence find (i) the
constant of variation (ii) how far will it travel jn 90 minutes? (iii) the time required to cover a distance of

-300km from the graph, (OR) b) Draw the ¢ graph of xy =24, X,y > 0. Usmg the g bmph find -

(i) y when x =3 and (ii) x when y = 6. ‘
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